KURUKSHETRA UNIVERSITY

KURUKSHETRA

Established by the state legislature Act-XII of 1956 ("A+" Grade,NAAC Accredited)



RESULT GAZETTEE

OF THE

MASTER OF ART SEMESTER-02 EXAMINATION

MAR-2024

COPYRIGHT RESERVED

PUBLISHED BY AUTHORITY

PRICE :RS.

(Including Postage)

KURUKSHETRA UNIVERSITY KURUKSHETRA, HARYANA

Result of each candidate is shown in the column of Result. Marks shown for Pass candidates and other Abbreviations are as below.

Abbreviation Stands For

'C' Compartment and to re-appear in the subject shown,till MAR- 2026 unless otherwise

Eligible/Stated.

'RLA' Result later for non-receipt of Awards form the Examiner or discrepancy therein.

'RL(UMC)' Result later for alleged use of Unfair Means.

RPFD Result provisional for want of dues mentioned against each.

'CC' Result is cancelled due to non-receipt of lower exam result/documents/s.

'RP' Result provisional for settlement of Improvment of Marks / Division.

'RPR'
'PID'
Result later due to Discrepancy in marks or any other dispute.

'RLD' Result later due to Discrepancy in marks or any o'
'ML' Marks later due to DIVISION.

Other Contents.

1. List of Candidates.

2. Pass percent.

3. Merit list.

IMPORTANT NOTES

- THIS RESULT GAZETTE MUST BE READ ALONGWITH "ADDENDA AND CORRIGEND. SUPPLEMENTARY LIST/S
 AND THE NOTIFICATION/S IN PARTIAL SUPERSESSION OF THE RESULT DECLARED IN THE GAZETTE, IF ANY.
- 2. College candidates will receive their Detailed-Marks-Cards (DMC) through the Principal of their Institutions. In case of non-receipt candidates should write through Principal not direct.
- 3. All private candidates will receive the DMC within ten days from the date of declaration of the result. If any candidate does not receive the same within fortnight of the declaration of the result or any result remains 'RL' the candidate should write to Asst/dy. Registrar Tell. No. 238582 and EPABX- 2461.
- 4. No Application for original Detailed-Marks-Card/Certificates will be entertained after a period of three months from the date of declaration of result.
- 5. All enquiries regarding result should be addressed to Dy/Asst. Registrar (Exam-I) KU Kurukshetra.
- 6. Re-evaluation of Answer-book(s) in Theory paper(s) is permissible within 20 days of the date of publication of result or 15 days of dispatch of DMC by the University, whichever is later, on submission of Application form which can be had from the Manager, Printing and Publications KURUKSHETRA UNIVERSITY, KURUKSHETRA on payment of Rs. 10/- at the counter or by remitting Rs. 30/-, if required by Regd. Post. It must be accompanied by Original DMC and Re-evaluation fee of Rs. 300/- per paper. The application should be addressed to Asst. Registrar (Re-evaluation) Kurukshetra University, Kurukshetra 136119, Telephone No. 2455 (University EPABX Exchange).
- 7. Examination Admission form can be had from the registered book-sellers of all the towns on the payments of Rs. 10/- per form or from the Manager, Printing and Publications Kurukshetra University, Kurukshetra 136119 on remittance of Rs. 35/- (including Postage) per admission form.
- 8. University shall not be responsible for delay or misplacement of DMC's sent through UPC / Registered Post.
- 9. Only latest Examination Admission form which costs Rs. 10/- will be accepted, otherwise Fee & late fees will be charged.
- 10. Late fees will not be charged, if the Admission Form is submitted within 25 days from the date of declaration of result or within 15 days from date of dispatch of DMC whichever is later.

Date: 28-02-2025

Roll no.

Regn No.

5501

Name

KURUKSHETRA UNIVERSITY KURUKSHETRA , HARYANA

Result

RESULT GAZZETE OF MASTER OF ART SEMESTER-02 EXAM - MAR- 2024

Father's name

CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

BRANCH 13 (MASS COMMUNICATION-CBCS-CDOE)

	3301	CENTRE FOR DISTANCE & ON	LINE EDUCATION RORORSI	ILINA
0023258001	23-DEO-401	BAHAUDEEN SADAT	0	ABS
0023258002	23-DEO-402	ESMATULLAH DANIYAL	0	ABS
0023258003	23-DEO-403	FARZAD ZAFARI	0	ABS
0023258004	23-DEO-404	ABDUL BASIR BARIKZAI	0	ABS
0023258005	23-DEO-405	MOHAMMAD GUL QAYOUMI	0	RE- OESS-5
0023258006	23-DEO-406	RAHMATULLAH HAMIDI	0	ABS
0023258007	23-DEO-407	MOHAMMAD SHAKIR EBRAHIM	1D	RE- OESS-5
0023258008	23-DEO-408	SHARIF BUARKI	0	ABS
0023258009	23-DEO-409	MOHAMMAD FAHIM WEQAR	0	ABS
0023258010	23-DEO-410	ZIAUDIN DURANI	QUDERDIN	RE- MAMC-202 OESS-5
0023258011	23-DEO-411	AHMAD SAMIR FATHI	0	ABS
0023258012	23-DEO-412	FAZAL RAHIM FAZLI	0	ABS
0023258013	23-DEO-413	MIKE KANYUNDO	0	ABS
0023258014	23-DEO-414	TOWA CHIRWA	CHIRWA	RE- OESS-5
0023258015	23-DEO-415	ADAKEN SARASPATEE	PRADEEP PUTTUR	ABS
0023258016	23-DEO-416	FATIMA ALKASSIM SUFYAN	ALKASSIM SUFYAN	0362/0550 SGPA 7.55
0023258017	23-DEO-417	GLORIA MUTONI	WILLIAM HITIMANA	ABS
0023258018	23-DEO-418	GRESHAM NGWIRA	FANWEL NGWIRA	RE- OESS-5
0023258019	23-DEO-419	ZAINAB QUAREEN CHISENGA	0	0371/0550 SGPA 7.82
0023258020	23-DEO-420	KULDEEP PUNDHIR	MANPAL SINGH	RE- OESS-5
0023258021	23-DEO-421	SWATI DIXIT	VIJAY KUMAR SHARMA	ABS
0023258022	23-DEO-422	SUJITH PACHIAPPAN	PACHIAPPAN	ABS
0023258023	23-DEO-423	PANKAJ KUMAR	SATYAVAN	ABS
0023258024	23-DEO-424	MANDEEP KAUR	BALDEV SINGH	RE- OESS-5
0023258025	23-DEO-425	AAKANKSHA KATARIA	RAVI KANT	RE- OESS-5
0023258026	23-DEO-426	SANDEEP NEHRA	MANGE RAM	ABS
0023258027	23-DEO-427	ASHISH MISHRA	GAJENDRA KUMAR MISHR	RE- OESS-5
0023258028	23-DEO-428	JATINDER RAWAT	RISHIPAL SINGH	RE- OESS-5
0023258029	23-DEO-429	ASHUTOSH SHARMA	ARVIND KUMAR SHARMA	RE- OESS-5
0023258030	23-DEO-430	HRISHITA KAHOL	GAURAV KAHOL	RE- MAMC-205 OESS-5
0023258031	23-DEO-431	SIMRAN SHARMA	SURESH KUMAR SHARMA	RE- MAMC-204 MAMC-205 OESS-5
0023258032	23-DEO-432	GULSHAN GULSHAN	RAJENDER SINGH	ABS
0023258033	23-DEO-433	HARDEEP SINGH	JAGJEET SINGH	0424/0550 SGPA 8.82
0023258034	23-DEO-434	ABHINAV GARG	MUNISH KUMAR GARG	RE- OESS-5
0023258035	23-DEO-435	MOHIT SHARMA	NARESH KUMAR SHARMA	RE- OESS-5
0023258036	23-DEO-436	NITIN JAIN	ANAND JAIN	ABS
0023258037	23-DEO-437	ISHANT SHARMA	ROOP LAL SHARMA	RE- OESS-5
0023258038	23-DEO-438	VINOD MEHRA	HEM RAJ MEHRA	RE- OESS-5

KURUKSHETRA UNIV Dr.ANKESHWAR PRAKASH
CONTROLLER OF EXAMS

Regn. No.

Roll No. 23258005

23-DEO-405

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-02 EXAM: MAR-2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : MOHAMMAD GUL QAYOUMI

Father's Name Mother's Name : 0

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	53	23		40AG	100	A+	9	04.0	36.0
2	MAMC-202 ADVERTISING	48	17		40AG	100	А	8	04.0	32.0
3	MAMC-203 RADIO JOURNALISM	57	23		40AG	100	A+	9	04.0	36.0
4	MAMC-204 PHOTO JOURNALISM	49	22		40AG	100	А	8	04.0	32.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	52	20		40AG	100	A	8	04.0	32.0
6	OESS-5 INDIAN POLITY	05	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**:	*		0550			22.0	168.0

OESS-5 RESULT: RE - TILL MAR- 2026 IN:

DATED:	FEB 28,2025	
KLIRLIKSHE	TERΔ	

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 23258007

Regn. No. 23-DEO-407

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR- 2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : MOHAMMAD SHAKIR EBRAHIMI

Father's Name : 0 Mother's Name : 0

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	28	16		40AG	100	С	5	04.0	20.0
2	MAMC-202 ADVERTISING	35	15		40AG	100	В	6	04.0	24.0
3	MAMC-203 RADIO JOURNALISM	35	18		40AG	100	В	6	04.0	24.0
4	MAMC-204 PHOTO JOURNALISM	31	13		40AG	100	С	5	04.0	20.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	37	17		40AG	100	В	6	04.0	24.0
6	OESS-5 INDIAN POLITY	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		***			0550			22.0	112.0

RESULT: RE - TILL MAR- 2026 IN: OESS-5

Data of issue

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	TERA					
DATED:	FEB 28,2	2025				



Regn. No.

Roll No. 23258010

23-DEO-410

$\label{eq:result-cum-detailed marks card} \\ \text{MASTER OF ART SEMESTER-02 EXAM}: \text{ MAR- } 2024 \\$

(MASS COMMUNICATION-CBCS-CDOE)

Name : ZIAUDIN DURANI

Father's Name : QUDERDIN Mother's Name : BABO GUL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	23	17		40AG	100	Р	4	04.0	16.0
2	MAMC-202 ADVERTISING	23	11	F	40AG	100	F	0	04.0	0
3	MAMC-203 RADIO JOURNALISM	34	19		40AG	100	В	6	04.0	24.0
4	MAMC-204 PHOTO JOURNALISM	27	13		40AG	100	Р	4	04.0	16.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	31	13		40AG	100	С	5	04.0	20.0
6	OESS-5 INDIAN POLITY	05	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0550			22.0	076.0

RESULT: RE - TILL MAR- 2026 IN: MAMC-202 OESS-5

DATED :	FEB 28,2025	
KURUKSHET	ERA	

Checked by 1. _____ 2. ____

(Clerk) (Assistant)

Data of issue



Roll No. 23258014

23-DEO-414 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR-2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : TOWA CHIRWA

: CHIRWA Father's Name : LEMUSIS Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	42	22		40AG	100	B+	7	04.0	28.0
2	MAMC-202 ADVERTISING	41	22		40AG	100	B+	7	04.0	28.0
3	MAMC-203 RADIO JOURNALISM	43	18		40AG	100	B+	7	04.0	28.0
4	MAMC-204 PHOTO JOURNALISM	37	16		40AG	100	В	6	04.0	24.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	39	16		40AG	100	B+	7	04.0	28.0
6	OESS-5 INDIAN POLITY	AB	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0550			22.0	136.0

OESS-5 RESULT: RE - TILL MAR- 2026 IN:

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 23258016

23-DEO-416 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-02 EXAM: MAR-2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : FATIMA ALKASSIM SUFYAN

: ALKASSIM SUFYAN Father's Name

: KHADIJA IBRAHIM ALKASSIM Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	51 22	40AG	100	А	8	04.0	32.0
2	MAMC-202 ADVERTISING	47 20	40AG	100	А	8	04.0	32.0
3	MAMC-203 RADIO JOURNALISM	50 21	40AG	100	А	8	04.0	32.0
4	MAMC-204 PHOTO JOURNALISM	42 18	40AG	100	B+	7	04.0	28.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	44 17	40AG	100	B+	7	04.0	28.0
6	OESS-5 INDIAN POLITY	30 AB	20AG	050	B+	7	02.0	14.0
	TOTAL	0362		0550			22.0	166.0
	GRAND TOTAL	0362		0550				

RESULT: PASSED AND HAS OBTAINED: SGPA 7.55

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 23258018

Regn. No. 23-DEO-418

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : GRESHAM NGWIRA
Father's Name : FANWEL NGWIRA
Mother's Name : FYNESS NGWIRA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	53	23		40AG	100	A+	9	04.0	36.0
2	MAMC-202 ADVERTISING	51	21		40AG	100	А	8	04.0	32.0
3	MAMC-203 RADIO JOURNALISM	49	20		40AG	100	А	8	04.0	32.0
4	MAMC-204 PHOTO JOURNALISM	41	18		40AG	100	B+	7	04.0	28.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	46	17		40AG	100	B+	7	04.0	28.0
6	OESS-5 INDIAN POLITY	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0550			22.0	156.0

RESULT: RE - TILL MAR- 2026 IN: OESS-5

DATED :	FEB 28,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1. _____ 2. ____

(Clerk) (Assistant)

Banu

Regn. No.

Roll No. 23258019

23-DEO-419

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-02 EXAM: MAR- 2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : ZAINAB QUAREEN CHISENGA

Father's Name : 0 Mother's Name : 0

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	55 23	40AG	100	A+	9	04.0	36.0
2	MAMC-202 ADVERTISING	52 23	40AG	100	A+	9	04.0	36.0
3	MAMC-203 RADIO JOURNALISM	45 21	40AG	100	А	8	04.0	32.0
4	MAMC-204 PHOTO JOURNALISM	47 17	40AG	100	B+	7	04.0	28.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	45 17	40AG	100	B+	7	04.0	28.0
6	OESS-5 INDIAN POLITY	26 AB	20AG	050	В	6	02.0	12.0
	TOTAL	0371		0550			22.0	172.0
	GRAND TOTAL	0371		0550				

RESULT: PASSED AND HAS OBTAINED: SGPA 7.82

			(Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED :	FEB 28,2	2025				

Banan

CONTROLLER OF EXAMINATIONS

Data of issue			

Regn. No.

Roll No. 23258020

23-DEO-420

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : KULDEEP PUNDHIR
Father's Name : MANPAL SINGH
Mother's Name : SUMAN LATA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	62 17	40AG	100	A+	9	04.0	36.0
2	MAMC-202 ADVERTISING	53 AB	40AG	100	В	6	04.0	24.0
3	MAMC-203 RADIO JOURNALISM	62 AB	40AG	100	B+	7	04.0	28.0
4	MAMC-204 PHOTO JOURNALISM	55 AB	40AG	100	B+	7	04.0	28.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	57 AB	40AG	100	B+	7	04.0	28.0
6	OESS-5 INDIAN POLITY	AB AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0550			22.0	144.0

(Assistant)

RESULT: RE - TILL MAR- 2026 IN: OESS-5

DATED:	FEB 28,2025		
KURUKSHET	ERA		
Checked by	1.	2.	

(Clerk)

Data of issue

Banus

CONTROL	LER OF	Ε ΕΧΔΜΙΙ	ΝΔΤΙΩΝΟ

Roll No. 23258024

Regn. No. 23-DEO-424

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR- 2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : MANDEEP KAUR
Father's Name : BALDEV SINGH
Mother's Name : SARABJEET KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	28	24		40AG	100	В	6	04.0	24.0
2	MAMC-202 ADVERTISING	31	23		40AG	100	В	6	04.0	24.0
3	MAMC-203 RADIO JOURNALISM	36	25		40AG	100	B+	7	04.0	28.0
4	MAMC-204 PHOTO JOURNALISM	41	19		40AG	100	B+	7	04.0	28.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	50	22		40AG	100	A	8	04.0	32.0
6	OESS-5 INDIAN POLITY	AB	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0550			22.0	136.0

RESULT: RE - TILL MAR- 2026 IN: OESS-5

DATED:	FEB 28,2025			
KURUKSHET	ERA			
Checked by	1		_ 2.	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 23258025

Regn. No. 23-DEO-425

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR- 2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : AAKANKSHA KATARIA

Father's Name : RAVI KANT Mother's Name : PREETI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	55 21	40AG	100	A+	9	04.0	36.0
2	MAMC-202 ADVERTISING	66 23	40AG	100	0	10	04.0	40.0
3	MAMC-203 RADIO JOURNALISM	64 24	40AG	100	0	10	04.0	40.0
4	MAMC-204 PHOTO JOURNALISM	53 21	40AG	100	А	8	04.0	32.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	45 21	40AG	100	А	8	04.0	32.0
6	OESS-5 INDIAN POLITY	AB AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0550			22.0	180.0

RESULT: RE - TILL MAR- 2026 IN: OESS-5

DATED:	FEB 28,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1. _____ 2. ____

(Clerk) (Assistant)

Banan

CONTROLLER OF EXAMINATIONS

Roll No. 23258027

23-DEO-427 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR-2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : ASHISH MISHRA

: GAJENDRA KUMAR MISHRA Father's Name

: LATA MISHRA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	32	23		40AG	100	B+	7	04.0	28.0
2	MAMC-202 ADVERTISING	28	18		40AG	100	С	5	04.0	20.0
3	MAMC-203 RADIO JOURNALISM	32	14		40AG	100	С	5	04.0	20.0
4	MAMC-204 PHOTO JOURNALISM	22	18	*	40AG	100	Р	4	04.0	16.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	35	19		40AG	100	В	6	04.0	24.0
6	OESS-5 INDIAN POLITY	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0550			22.0	108.0

OESS-5 RESULT: RE - TILL MAR- 2026 IN:

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1. (Clerk)

(Assistant)

Roll No. 23258028

Regn. No. 23-DEO-428

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : JATINDER RAWAT
Father's Name : RISHIPAL SINGH
Mother's Name : USHA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks O	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	52 A	∖B	40AG	100	В	6	04.0	24.0
2	MAMC-202 ADVERTISING	55 A	\ Β	40AG	100	B+	7	04.0	28.0
3	MAMC-203 RADIO JOURNALISM	56 A	AΒ	40AG	100	B+	7	04.0	28.0
4	MAMC-204 PHOTO JOURNALISM	44 A	AΒ	40AG	100	С	5	04.0	20.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	52 A	AВ	40AG	100	В	6	04.0	24.0
6	OESS-5 INDIAN POLITY	AB A	AB F	20AG	050	F	0	02.0	0
	TOTAL		***		0550			22.0	124.0

RESULT: RE - TILL MAR- 2026 IN: OESS-5

		(0	Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED:	FEB 28,2	2025				

Data of issue



CONTROLLER OF EXAM	INATIONS
--------------------	----------

Roll No. 23258029

23-DEO-429 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR-2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : ASHUTOSH SHARMA : ARVIND KUMAR SHARMA Father's Name

: MADHU SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	d	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	60	14		40AG	100	А	8	04.0	32.0
2	MAMC-202 ADVERTISING	64	AB		40AG	100	B+	7	04.0	28.0
3	MAMC-203 RADIO JOURNALISM	61	AB		40AG	100	B+	7	04.0	28.0
4	MAMC-204 PHOTO JOURNALISM	54	AB		40AG	100	В	6	04.0	24.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	54	AB		40AG	100	В	6	04.0	24.0
6	OESS-5 INDIAN POLITY	AB	AB	F	20AG	050	F	0	02.0	0
	TOTAL		***	•		0550			22.0	136.0

OESS-5 RESULT: RE - TILL MAR- 2026 IN:

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Regn. No.

Roll No. 23258030

23-DEO-430

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : HRISHITA KAHOL
Father's Name : GAURAV KAHOL
Mother's Name : AARTI KAHOL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	59	27		40AG	100	0	10	04.0	40.0
2	MAMC-202 ADVERTISING	62	28		40AG	100	0	10	04.0	40.0
3	MAMC-203 RADIO JOURNALISM	54	25		40AG	100	A+	9	04.0	36.0
4	MAMC-204 PHOTO JOURNALISM	43	23		40AG	100	А	8	04.0	32.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	АВ	23	F	40AG	100	F	0	04.0	0
6	OESS-5 INDIAN POLITY	AB	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**:	*		0550			22.0	148.0

RESULT: RE - TILL MAR- 2026 IN: MAMC-205 OESS-5

DATED:	FEB 28,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1. ______ 2. _____ (Clerk) (Assistant)



Regn. No.

Roll No. 23258031

23-DEO-431

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-02 EXAM: MAR-2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : SIMRAN SHARMA

: SURESH KUMAR SHARMA Father's Name

: ALKA SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	53	AB		40AG	100	В	6	04.0	24.0
2	MAMC-202 ADVERTISING	61	AB		40AG	100	B+	7	04.0	28.0
3	MAMC-203 RADIO JOURNALISM	42	AB		40AG	100	С	5	04.0	20.0
4	MAMC-204 PHOTO JOURNALISM	26	AB	F	40AG	100	F	0	04.0	0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	29	AB	F	40AG	100	F	0	04.0	0
6	OESS-5 INDIAN POLITY	AB	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0550			22.0	072.0

MAMC-204 MAMC-205 OESS-5 RESULT: RE - TILL MAR- 2026 IN:

DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

Regn. No.

Roll No. 23258033

23-DEO-433

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : HARDEEP SINGH
Father's Name : JAGJEET SINGH
Mother's Name : BEANT KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	55 26	40AG	100	A+	9	04.0	36.0
2	MAMC-202 ADVERTISING	66 20	40AG	100	0	10	04.0	40.0
3	MAMC-203 RADIO JOURNALISM	59 26	40AG	100	0	10	04.0	40.0
4	MAMC-204 PHOTO JOURNALISM	46 20	40AG	100	А	8	04.0	32.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	59 23	40AG	100	A+	9	04.0	36.0
6	OESS-5 INDIAN POLITY	24 AB	20AG	050	С	5	02.0	10.0
	TOTAL	0424		0550			22.0	194.0
	GRAND TOTAL	0424		0550				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.82

		(Clerk)	(Assistan	t)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	FEB 28,2	2025			

Data of issue



CONTROLLER OF EXAMINATIONS

Regn. No.

Roll No. 23258034 23-DEO-434

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-02 EXAM: MAR-2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : ABHINAV GARG

: MUNISH KUMAR GARG Father's Name

: ANJANA GARG Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	62	27		40AG	100	0	10	04.0	40.0
2	MAMC-202 ADVERTISING	63	27		40AG	100	0	10	04.0	40.0
3	MAMC-203 RADIO JOURNALISM	60	29		40AG	100	0	10	04.0	40.0
4	MAMC-204 PHOTO JOURNALISM	54	24		40AG	100	A+	9	04.0	36.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	57	25		40AG	100	A+	9	04.0	36.0
6	OESS-5 INDIAN POLITY	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0550			22.0	192.0

OESS-5 RESULT: RE - TILL MAR- 2026 IN:

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 23258035

23-DEO-435 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR-2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : MOHIT SHARMA

: NARESH KUMAR SHARMA Father's Name

: ANITA SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	46	17		40AG	100	B+	7	04.0	28.0
2	MAMC-202 ADVERTISING	55	16		40AG	100	А	8	04.0	32.0
3	MAMC-203 RADIO JOURNALISM	50	17		40AG	100	А	8	04.0	32.0
4	MAMC-204 PHOTO JOURNALISM	40	16		40AG	100	B+	7	04.0	28.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	48	17		40AG	100	A	8	04.0	32.0
6	OESS-5 INDIAN POLITY	AB	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0550			22.0	152.0

OESS-5 RESULT: RE - TILL MAR- 2026 IN:

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

Regn. No.

Roll No. 23258037

23-DEO-437

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR-2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : ISHANT SHARMA : ROOP LAL SHARMA Father's Name : VEENA SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	d	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	50	19		40AG	100	А	8	04.0	32.0
2	MAMC-202 ADVERTISING	54	20		40AG	100	А	8	04.0	32.0
3	MAMC-203 RADIO JOURNALISM	62	26		40AG	100	0	10	04.0	40.0
4	MAMC-204 PHOTO JOURNALISM	27	17		40AG	100	С	5	04.0	20.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	54	23		40AG	100	A+	9	04.0	36.0
6	OESS-5 INDIAN POLITY	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		***	•		0550			22.0	160.0

OESS-5 RESULT: RE - TILL MAR- 2026 IN:

Data of issue

,		(Clerk)		(Assistant)
Checked by	1.		2	
KURUKSHET	ERA			
DATED:	FEB 28,202	5		



Roll No. 23258038

23-DEO-438 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-02 EXAM: MAR-2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : VINOD MEHRA : HEM RAJ MEHRA Father's Name : SAROJ DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-201 REPORTING	40	21		40AG	100	B+	7	04.0	28.0
2	MAMC-202 ADVERTISING	52	14		40AG	100	А	8	04.0	32.0
3	MAMC-203 RADIO JOURNALISM	47	17		40AG	100	B+	7	04.0	28.0
4	MAMC-204 PHOTO JOURNALISM	36	16		40AG	100	В	6	04.0	24.0
5	MAMC-205 MEDIA LAWS AND MANAGEMENT	54	18		40AG	100	A	8	04.0	32.0
6	OESS-5 INDIAN POLITY	14	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0550			22.0	144.0

OESS-5 RESULT: RE - TILL MAR- 2026 IN:

DATED:	FEB 28,2025		
KURUKSHE	TERA		

Data of issue

Checked by 1.